ER22FE BEARBFEAR/NARATYNR—ILKR
REABMRKER RS iR

# A8 TR225E4 A23A(%)-24R(L)
& A AR SRR B DA EPRAEHE

<BFo#> (1585m) <XFOEH> (1288m)
1E# 1=
19 — 17 23 15 — 15 E=:
wE 79 { - ]ﬁ} o omemx O EE | Tms— e { 0 ;3} 79 wwm— ERE
17 — 25 HH N 25 — 20 fE¥E R
17 — 9 S 2 — 4 FE
— 23 — 16 Bt =it w 35 — 3 = B %%
HME= 94 % — 13 52 HEE Bl AWHR 156 T o— 1 21 =fn =
26 — 14 KiFg R 32 — 3 %R A
18 — 7 S 15 — 10 FE
15 — 28 Bl shl 14 — 10 —fa &
7 — 4
28 — 14 2 16 — 14 =
R S S I R B I
22 — 20 A BHF 19 — 1 BE &S
35 — 15 E2:3
5 101 1 27~ 18 6 ghmmo- _EFEA
24 — 15 " BT
15 — 18 F RH
25 — 10 TE
14 — 10 — IBE HE
H¥EHK 77 { 5 — 14} 44 THEE " iz
20 — 10 A5 EiL
4 — 4 FE
FHIE 127 { -0 } 28 mm L BUE
29 — 14 KE T
2[E18, 2[E8
28 — 9 L 29 — 11 FE
! 95 { % }2} 55 e B ORX THEZ 96 { 2 - 250} 63 TFmm— GEF P
14 — 15 BN & 9 — 27 X
24 — 9 FE 25 — 10 FE
— 17 — 13 w HH 16 — 8 w BhE FH
HE= 63 12 — 1g 52 P e 5 78 2 — 14 49 AWAX %
0 — 12 R RF 15 — 17 —f EXR
20 — 15 EZ 23 — 14 FE
_ 17 — 14 NG B 17 — 8 s AN E7
THm— 87 | ) T 1 59 4 o ez 82 | 0 5 46 mE B
24 — 19 Bl % 24 — 14 il FER)
15 — 16 23 28 — 8 FE
23 — 12 A A 15 — 8 WE B
THIE 66 { 7 - 16} 60 AWAX 2% #Fn 105 { 9 — 17} 46 e %
11— 16 BRI ¥ 40 — 13 WE EE
R 3R
22 — 16 FE 2 — 6 FE
N 23 — 14 = HE WA 15 — 15 — A %EF
W 84 { 17— 16 67 HHE= BI= 5 77 { 20 — 21 65 TREE aI=
22 — 21 WHE #Y 20 — 23 fedE B
24 — 14 E: 20 — 13 -
= 27 — 13 BAE =i 17 — 9 g ez
THS 102 { 26 — 15 50 THLR BEIE #h 18 { 24 — 14 61 RETR Bl
25 — 8 W & 17 — 25 E B
ShIREM SRREM
13 — 23 FE 18 — 17 3
HHES 86 { » - 1?} o4 FETE EFFA | Fmms oes | 2 M| 79 mmme O P
2 — 17 HH N 19 — 20 il R
13— 7
RIS R
18 — 20 FE 16 — 20 FE
FHEE— 97 { “ - ]‘7‘} 77 i Rk A 80 { I ]2} 62 8 g R
33 — 26 %R A 2 — 12 —fa E&
RFEBFRE BRFPELTFRE
B B
ETHL TR BBER AL BRESFH
28 RN E R ¥2 AL P
FEIfL H B =SSR E3f TEE_S%FK




